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The figures in the margi'n indicate full marks
for the questions.

Answer either in English or in Assamese.
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1. Choose the correct answer for the following
questions : 1x5=5
S5 frEl SEEES @@ Tel iR SRered ¢
(2) What was the basis of the second generation

computers 7 °
"ToE (TN ISR wiME
e 2

(i) Vacuum tube
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(ii) Transistor
on
(iii) Integrated circuit
BTG GG
(iv) VLSIC
f®, 9=, 9w, =3, f5

(b) What is the function used to add the range

from cell Al to A10 in MS Excel ?

MS Excel® (251 A19 #[|1 A 10 C&1 (%@ 9Bt ci9)
TR & Fioa a=mw a9 2w 9

(i) = ADD (AL, Al0)

(i) = ADD (Al : Al10)
(iii)= SUM (Al , A10)
(iv) = SUM (Al : A10)

The operating system that manages more than
one CPU is called —.

GBTels (@R CPUS Hselem 53 Sisli=ite Bress
— (e T

(1) Multiprocessing operating system

NEBeeR: SeEb By

(c)
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operating system ' | |
IBIf%: wsticafB fBoew | !

.
i

Aultiuser operating system

W#ESET W@ Hrew

Multlthreadlng operating system
wrf?malf%\ R e Do S

e program that is used to view a webpa,
known as ——. i
oler @Bl BIkce] IR eiamﬁms —
g Tl ,

ﬁ) Search web

: . (ii) Search engine
'\ G
(i) Web browser
4 @A a@@a

iv) HTTP
«%5, 5, B, f‘3f

‘,
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B
W
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(¢) The computer network which is confine il model has seven layers.

within a small geographical area is known & e reB! wE7l A

also referred as volatile memory.

Bl E (SN ST SIRE 0

(5 GBIE 3
: i g il iR e eIt =
(i) LAN e , .
et It pictures can not be inserted in a slide
PowerPomt i
(i) MAN v
?owerPomt-a EXTEW ChpArt-ﬁ‘”
" 5 IR @R
(i) WAN : e ;
_ hub is a common connection point for
@ ces in a network.
(iv) Internet | : 4 we GOAE B SRR SrRS
TG J cael R

e the following questions : 2x5=10
il epTrzs B i o

What is the usage of secondary memory in
A computer ?

Solq «Bre o oRY I B ¢

2. State whether the following sentences are true or
false : 1x5=5

wete fral APTE WA aww Srmd 1A ¢

(a) 'High Level Languages' are machine
dependent language.

2B @IS @\@WWWWWI
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fen %,-u the basic features of MS PowerPomt

(b) What do you mean by IP Address ?
owerPoxnt-€ C?ﬁﬁﬂﬁs Zarf*&m:[q B

1P twg I B oqm oo

(c) What is deadlock 2 4 A

oTETS R What do you mean by WWW ? Discuss
briefly. D i i
WWW Bt & go1 2 Sate s w9
: Write the differences between corripﬂer and%
~ interpreter. ;

‘ MWWWWW@?H@WI

(d) Mention two basic features of fourth
generation computers.

wqmwm@mw
-

(¢) What is a worksheet ?

AFRG R 2 ' - What is communication channel ? Brxeﬂy
discuss  about any two communication

~ channels.

it i ?ﬁm@fmenmﬁ
. N R s e 91|

Bs -,

4. Answer any four of the following questions :
5x4=20

weTe il epTRe R P SIfRBR Sey W e |
(a). Explain the functions of RAM and ROM. 4

1) Mention four basic features of digital
@ W IR PR amm sl "

computers. Briefly discuss the functions of

the basic components of a computer.
; 4+6=10

fofRrsr SR=IS5RT SIRG! Ghfers R Seael
WIWQWWW\WWW
A |

(b) Differentiate between 'single user' and
'multiuser' operating systems with a suitable
example. |

oo e o wiFtIEwR A
P Sneeeie eitew Rt w1 ‘
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(b) What is software ? Discuss about dif

6. (a)

: SYE ST 3| OSI =ifFy wys

(b)
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Or / aizq

‘ Processihg ? Mention the steps
Create a table in'MS Word. How
rm the following in MS Word 9

categories of software, Explain the | » | | 24246=10
functions of an Operating system. | ‘. B ¢ MS Words ¢ Lg' <4 TR
1+4+ e st S U1 MS

WWW!W%%%W@WW‘
Sy

ert a new row in a tab‘le'..‘ gl .
¥ Q9T B T S 4| i
elete column from a foble. AR
DIPTSR
'»Mergc two cells in a table.

- B9 QS WOl ceet sl _

4 - Or / wig "

ntion the main features of MS E)fcel. |
Xplain the usage of the following functions |
MS Excel. ' 4+6=10

y S ExceR Y5 aMermz Sar w4 TS
il wicsrEs MS Excels 2 <5t =41

(i) AVERAGE |

(i) COUNTIF

(i) MAX

P o [Tum over

What is network topology ? Briefly dis
about different hetwork topologies. Name
layers of the OSI model. 1+6+3=

RIS o R 2 Ry gk Booper s

WW@W(
'Or/Fn??T

Briefly discuss the role of Informati
Technology in Banking and Insyran
sectors. :

R w1 T 2w vy 23R SRt Bl
ST 3ot | - |




8. Write short notes on any fwo of the followim

wors Fal B e wora 5, GG B e
- §x2=]

(a) Micro and mini computers

i e BRSO

(b) E-mail

Y3
(¢) File system
; izl e
(d).Mac'hiné language.
Efon EREwS |
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